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QUESTION 1

A developer is asked to determine which Web services approach is correct for a new project. A SOAP-based Web
service must be created and deployed in an environment where many customers will use it. These customers will be
responsible for developing their own clients, based on the published WSDL. Which approach is correct to use first in this
situation? 

A. Java, because the WSDL generated later will be more accurate 

B. WSDL, because the service and customers can benefit from the strongly typed schema 

C. Java, because the service must be efficient to support many customers 

D. WSDL, because tools allow existing classes to be easily mapped without modification 

Correct Answer: B 

 

QUESTION 2

Place the general steps in the JAXB data binding process in the correct order. 

a.

 compile classes 

b.

 generate classes 

c.

 generate content tree 

d.

 marshall 

e.

 process content 

f. 

unmarshall 

g.

 validate 

A. 

f,b,a,c,g,e,d 
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B. 

b,a,d,c,g,e,f 

C. 

b,a,f,c,g,e,d 

D. 

b,a,d,c,e,f,g 

E. 

f,c,a,b,g,e,d 

Correct Answer: C 

 

 

QUESTION 3

A Web service needs to encrypt certain SOAP headers when responding. Which statement about this encryption? 

A. The Web service interaction layer is the appropriate place for such encryption. 

B. The Web service processing layer is the appropriate place for such encryption. 

C. Either the Web service interaction or processing layer is appropriate for such encryption. 

D. Neither the Web service interaction nor processing layer is appropriate for such encryption. 

E. Protocol-based encryption like HTTPS should be used to meet the requirements without code changes. 

Correct Answer: A 

 

QUESTION 4

A company is building a customer relationship management system that is to be deployed on a customer\\'s network,
and they want software functions to be reused and combined in different modules in the system. The Director of
Technology has determined that the new system should utilize both Web services and a Service Oriented Architecture
(SOA). Which two statements about Web services in an SOA are correct? (Choose two.) 

A. A Web service must be discovered from a UDDI registry in an SOA. 

B. SOA and Web services both use the HTTP protocol at the transport layer. 

C. A Web service must publish itself to a UDDI registry to become part of an SOA. 

D. SOA is a way to design a system and Web services are a possible implementation. 

E. SOA is used for stateless invocations, and Web services for stateful invocations. 
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F. SOA emphasizes the concept of service encapsulation and Web services fulfill a service contract. 

Correct Answer: DF 

 

QUESTION 5

A developer needs to write a Web service that supports user sessions that timeout after 120 seconds. Which
configuration file is correct for the developer use? 

A. web.xml 

B. server.xml 

C. ejb-jar.xml 

D. service-config.xml 

Correct Answer: A 
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